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1. (a) Compute the Fourier series cocfficients fm for
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EL) () Compute the sum of the squared magnitudes of the Fourier coefficients [Hint: don’t use (a)].
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[BONUS] How many sample points are needed so that the previous function is interpolated exactly?

2y
N e 6\"'{&')//0 lAﬂU
Nmur?]/ (TLM 3 }WA % in.?fwau »é,m(,f\[y/ A
m=? 5o N > 14 o N=15 16 oo vl A

A function f has Fourier coeflicients bounded by fm < ptb7l for some < 1. As N — oo, what type
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Derive a rigorous upper bound on this error {you may assume N is sufficiently big):
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[3] 4. Compute the result when the vector [I 23] is acyclically convolved with the vector [321]. m b b
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[”5] 5. Roughly how many times faster would you expect Strassen’s algorithm to multiply two numbers of
length 10¢ digits to run than the standard long multiplication algorithm? (Explain.)
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